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Name: Class:
{K Equivalent rates )7
Fill th bl[aan spaces with the missing number to complete the proportions.

1. 25 chairs per row = c¢hairs in 25 rows

2. 123 dollars for 41 TV channels = dollars per channel

3 900 books in boxes = 20 books per bo

4 00 apples per bag = 500 apples in bag

5 50 chairs per row = “hairs in 5 row

6. 3,000 dollars for 92 TV/channels = dollars per channel.

7. 300 books in boxes = 30 books per bo

8. 60 apples per bag = 30/apples in ags

Math-word problems.com

All rights reserved



h‘ I Math-wordproblems.com

Equivalent rates

Fill the blank spaces with the missing number to complete the proportions.

1. 25 chairs per row = . c¢hairs in 25 rows.
We get the ratios below from the given information.
2511 [and (1 25|

Write the ratios as fractions.

25 and 2 | Tofind the missing digit (’P) multlply 25 by 25 and dIVIde by 1.
1 25| |»4 25x%25_|g25 |
1

Therefore, 625 chairs in| 25/ rows.

2. 123 dollars for 41 TV channels = _ _dollars per channel. |

We |get the ratios below [from the given information.
123:41 and 11

Write the ratios as fractions.

123 and._? To find the missing dlglt (?), multiply 123 by 1 and divide by 41,
M L[ | 2=128x1 |- 3 |
4]

Therefore, 3 dollars per .channel.

3. 900 books in _ boxes =90 books per box.
We get the ratios below from the givenlinformation.
- 900Q: | | land 90 :11

Write the ratios as fractions.
900 and _90 To find the missing dlglt (’P) multiply 1 by 900 and d|v1de by 90.

? 1 7=[1X%900 =10
90 Therefore, 900 books in 10 boxes.
4. 100 apples per bag = 500 apples in bags.

‘We get the ratios below from the given information. |
100 : 1 and 500 :
100 and 500 To find the missing dlglt (?), multiply 500 by 1 and lelde by 100.
3 1?7 500x1-5 ,
100 | Therefore, SOO' apples in 5 bags.
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